A £ 0l &8 A E Ml A
02T 20l ULHEIH RA
SA: A
B DA AR (UNIDIHE/AVIHE)
chel: alpiar| G=CE-E
SA - BB ERI(E) - KIRAY - BAS of aro G HIDE2
FHH 791,944 859,225 267,281
S0 ARG (LESIHE/ALIEY) 604,613 679,127 AT74,514
FAEHz 226,913 290,277 AB3,364
A2t 22,700 52,900 230,200
201 Le+24| 8,400 7,900 500
02 2Z2Z| 8,400 7,900 500
OWLh)| 2 F| SR
200,000& = 7CH 1,400
Od= =Xl 1,500,000& » 14! 1,500
OYLSIH(SW) =X 2,000,000& = 1CH 2,000
OMSEEXIZH(ZE]) |XIHl  2,000,000& * 1CH 2,000
OSEg=Xxe |l 1,500,000&  1CH 1,500
401 Al&HIYL 0| 14,300 45,000 230,700
01 Al&ZH] 14,300 45,000 230,700
OFAL 22 A 14,300
—AEE 3,630,000& » 14! 3,630
—AEZA 10,670,000 * 14 10,670
A2 1,080 10,144 29,064
206 M=4] 400 3,991 A3,591
01 H=H] 400 3,991 23,591
Ogddtle &g+ 78
5,000& * 53 * 43 100
ONMEE3 =HE8 =i 7
5,000& * 5& « 123 300
307 2I12+0I1A 680 0 680
01 o2 = 680 0 680
Odozel 2=t 15,0008 » 18 » 123 180
O AFZ X+ Zel] 500,000& * 1+ 500
2ets RAlZ 62,400 62,400 0
201 e8| 62,400 62,400 0
02 2324 62,400 62,400 0
O=ots MJIe= 6,000& * 6505 * 128 46,800
O=ets ==cldl 60,000& = 6505 * 40/100 15,600
LYHECCTV= A2 3,600 3,600 0
201 Le+2ZH| 3,600 3,600 0
02 8= 3,600 3,600 0
Olt2 ¢HE CCTV =A%
50,000& * 45JH2 * 40/100 900
O02 Z#HE CCTV &JIR=
5,000& * 45004 + 12003 2,700




FA F4H
FI: 20 A (BB IUT/UBIHE)
el maoize) (e E)
< - o HEAT
A - B - SR(3) - NFAY - BES Off &bH 01l AkoH HIRS2
SES A 12,949 37,529 224,580
101 2124H] 6,596 28,533 A21,937
04 JIZtHIZ22 S 2= 6,596 28,533 A21,937
OggZSE|, %ty saze ovy
73,2802 = 38 * 10& = 33 6,596
201 £Eh=gH| 4,140 3,440 700
01 Ar2teld] 1,500 2,000 A500
OOISALEBIRA U UGIATZTA RN
0,000& * 1042 » 23 1,000
O0IFIl & =H| 22yl
100,000& * 504 = 12 500
02 322l 2,640 1,440 1,200
OdstalE ¥ "2l 2EsHE 2,640
—&IKe=s 100,000& * 204 » 12 2,400
—drERs 20,0002 = 1 » 123 240
206 =4l 2,213 5,056 A2,843
01 MZH 2,213 5,056 22,843
OB ¥ ZAX X422 620
—EE0l YR Rl P
20,0002 = 35 * b3l 300
—&lHl & Hlg 7Y 5,000& » 20 * 23] 200
— &g+ 7Y 20,0008 = 35 * 23] 120
O=X, 43, A8, 82| 34 22| 1,100
—SHE UM %R 7Y
40,0002 * 35 * 52 600
—HlE 7Y 5,000& * 10% = 102 500
OnFlIg 8E P 1,502 * 3102 493
SAH FUNINE =24 9,380 8,900 480
201 £eh=gH| 9,380 8,900 480
01 At22tIH| 1,680 1,200 480
OFOIRXIHEl ARE 7 L H)|2ke
140,000 = 122 1,680
02 E=24 7,700 7,700 0
OFMIIRZ, Hol4+E MEBR S
600,002 * 122 7,200
OAIEEHl FAl2tel 500,000 = 14 500
FQIXIR Jler2st 114,804 114,804 0
204 [ 24| 2,400 2,400 0
03 S| 2,400 2,400 0
ONFEgs73 100,000 * 2& * 122 2,400
301 LEEd= 112,404 112,404 0




FA F4H
B DA AR (UNIDIHE/AVIHE)
SR VIS TS (=I5
S - R - SRIEH) - ARAY - BAS e G HIDE2
05 & - 0% - tdas2es 106,860 106,860 0
O0|&=g 102,960
—Jl2=g 300,000 * 22& « 123 79,200
—&03 300,000 * 22 * 200% 13,200
—glo|atsagt
20,0008 = 22& * 23| » 123 10,560
Ogtd=g 50,0002 » 78& 3,900
09 ALABIXIE S 5,544 5,544 0
Oclg8ot E9| S 3AFAR =4
7,0008 » 6698 » 122 5,544
A2 FEEANY 377,700 388,850 11,150
A FEEANY 377,700 388,850 211,150
401 AlEHIYL SO 377,700 368,850 A11,150
01 Al€H] 375,000 386,000 211,000
OArZ2 FEIEHAAY 375,000
—glicl SZEISAt 200,000& = 70m 14,000
—SX1cl =2 EXISA 150,000& * 160m 24,000
—SX22| =2 EXISA 150,000 * 200m 30,000
-1 SEEESA 200,000 = 100m 20,000
—Z=R22| SEEESA 200,000 = 115m 23,000
—adic] SSEESA 200,000& * 105m 21,000
—ad2e s2 & =2 EXISA
220,000& * 100m 22,000
—ad32] =2 EXISA 100,000& * 100m 10,000
—ad4e| SZEESA 200,000& * 100m 20,000
—2352| =2 & XIS A 100,000 = 170m 17,000
—2362| =2 & XIS A 100,000 = 140m 14,000
—L=12| =2 EXISA 100,000 = 100m 10,000
—=2c SZEESA 200,000& = 100m 20,000
—E1c SZEESA 200,000& = 100m 20,000
—E222| =2 EXISA 100,000& * 100m 10,000
—R=2| SZEISA 200,000& * 70m 14,000
—atA1el =2 L XIS A 100,000 = 100m 10,000
—atH&2e| =24 XIS A 100,000 = 130m 13,000
—&=1cl SSEESA 200,000 = 100m 20,000
—&=2c| =2 EXISA 100,000& * 100m 10,000
—231c s2EESA 200,000& * 100m 20,000
—2H22l =2 EXISA 100,000& * 130m 13,000
03 AI&S0HY 2,700 2,850 A150
OAr2 FEIEHAAE ALY
2,700,000& * 14 2,700
HY2HZHI(RAH)(DIEHIIE 187,331 180,098 7,233




SN

ek
& AY2IIY(RAH)(IIEHIIE
crel: o2y G=CE-E
S - R - SRIEH) - ARAY - BAS e G HIDE2
el 2| 70,969 70,250 719
IS 2| 70,969 70,250 719
101 el24b] 70,969 70,250 719
01 2= 70,969 70,250 719
OAlZte22+E
10,9523 * 158 » 3pAI2+ » 12E 70,969
Jl=& 116,362 109,848 6.514
Jl=2& 116,362 109,848 6.514
201 feH=2 & 42,782 41,168 1,614
01 AtR22|H 32,918 31,424 1,494
O=AMEXN 7 16,000 » 1624 » 12E 3,072
OS2 Al 7,000 * 440 = 169 » 123 5,376
Otz 100,000 = 128 1,200
OAR2 EA7H 50,000& = 12& 600
OArE 4t 7,220
—SADN(AE) =2l 500,000& = 1CH 500
—I2IE =2 100,000& = 4CH * 50/100 200
—SADI EY 200,000 = 53 = 104 1,000
—ZelEDI(E) EH
200,000& = 53| * 4K 4,000
—ZgIHJI(Ze) EY
200,000& = 33|  10H 600
—PC ==cl 100,000& = 16CH * 20/100 320
—JIEt ==clbl 50,0008 = 123 600
OJIEF AFR2el] 5,000& » 168 122 960
Ogzlsd 14,490
—=35g 30,0008 = 1&8 * 247 7,410
—LAd 60,0003 = 1& » 118 7,080
02 SE=gH| 9,864 9,744 120
ORER3 180,000& = 12 2,160
OREEsSs AER 10,000& » 12& 120
ORIdeds MER 7,0008 » 128 84
OFAM HJIL=S 550,000& = 12 6,600
O&J| 88 === 150,000 * 23] 300
Odotr=es 50,0008 » 123 600
202 04l 51,840 51,840 0
01 =LHNOLI 51,840 51,840 0
O 0AL| 20,0003 = 169 » 122 = 128 46,080
O22| 04| 90,0003 * 162 = 4L 5,760
203 g =& 10,840 10,840 0
01 J|22ggex=4a| 6,600 6,600 0
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